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18. Two circles with centres O and Q and radii 8cm intersect at points A and B as shown below.

Given that the distance between O and Q is 12cm and that the line AB meets OQ at X, find:

(a) the length of the chord AB. (3marks)
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(b) the reflex angle AOB. (3marks)
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(c) the area of the shaffed region. 7 =3.142 (4marks
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19.A triangle whose vertices are A(1,4) B(2,1) and C(5.2) is given the following

transformations. -

i)  Areflection along the line y = x to A*B*(?

iiy A'B'C! s given a rotation of a positive quarter turn about the origin A**B1*C*
iii) AY1BC'! is given an enlargement of linear scale factor -2 about (1,2) to

AlllBlll C111

a) Using the grid provided, plot the triangle ABC and its image A'B1C?  (3mks)

b) Locate the image A**B**C*! from the grid hence state its co-ordinates. (3mks)

¢) Find the co-ordinates of A**1B*11C111 hence plot it on the grid (4mks)
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20.The figure below shows a prism whose cross section is a regular pentagon of side 6cm and
whose length is 20cm joined to a cylinder of radius 14cm and height 6cm to form a the model of
asolid

6em
fe—
. S
20cm
R 6em

(a) Calculate the cross section area of the pentagon

3
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(b) Calculate the total volume of the solid q
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(c) The model represents a pillar of total helght 5.2m, calculate the volume of the actual solid
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3
_ &
Lg_r, QO \<[st Qj?,g[‘LL

[.S - 5/719,«4 ,H_q/gu_jng},:(’? C’qugwln%
—Zaém | Tjporwexe0 X QO0C

3G hgm3





image11.jpeg
21. An expedition has 5 sections AB, BC, CD. DE and EA. B is 200m on a bearing of 050°
from A. C is 500m from B. The bearing of B from C is 300°. D is 400m on a bearing 230"
from C. E is 250m on a bearing 025° from D.

(a) Sketch the route il
(1 Mark)
(b) Use the scale of 1cm to 50m to draw the accurate diagram representing the route. "
(5 Marks) ' %
(c) Use your diagram to determine ! N (»/ 0
(i) Distance in metres of A from E X570 = [400[/] ! W
(2 Marks) .
(ii) Bearing of E from A(2MKS) ’ ] 0
L3
N . A
&
d
\0
A k o
Coy . "
|
E g"";c

22. In the figure below PQ = 2500m, U T= 1000m and TS =2350m. PQR is a straight line.
Parallel to UT and angle UPQ =22.5°.
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(b) Find the perimeter of the figure.
DFO6 + (000 + 3504544 #1036+ 3UH 4 2500
— [3 66V
23. A circular lawn is surrounded by a path of uniform width of 7m. The area of the path is
21%
that of the lawn.
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(a) Calculate the radius of the lawn.

(4 mks)
: 2= o0, LSr= [1a B 1
| il =

Ypa= | |217% Lsi= )y T=pir-
74‘5’“‘/91 R=r+z F =0r

J ’*f%:/,?é Lor= THF o1 2
Y I Y=F0ed

Lsrerer | BE= b =

(b) Given further that the path surrounding the lawn is fenced on both sides by
barbed wire on posts at intervals of 10 metres and 11 metres on the inner and
outer sides respectively.

Calculate the total number of posts required for the fence.
(4 mks)

QY ATy R -
9t R e 4 %;wig “o
(&xaa/x#’ ="lyo B_fi: Ll post
7 /

() Calculate the total cost of the posts if one post costs sh 105.

™ gexinS= Gauo

24. A surveyor recorded the measurements of a field book using XY=400m as the base line
as shown below.
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a) Use a scale of lem to represent 50m to draw the map of the field. (5mks)

b) Find the area of the field in hectares
2
(l) ,g \(ljnozrat{))%—é(‘: 8/95
@) Z (:;mngs’o)x #E = 9500

ooV
B) jgoxuo = /Dg
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ANESTER-GABRIEL-PREMIER JOINT EXAMINATION
MATH PAPER 1, FORM 3

TERM I11, 2016

SECTION I-(answer all the 16 question in this section-5S0MARKS)

1. Use tables of square roots and reciprocals tables to evaluate to 3 decimal places the
problem below. 4 L—l
—5)—+L ‘ O T (3marks)
J0.625  l64 o 79059 1280
D,;ans@ (2606 B g
Noe St | Rec + 0:3lart

? ‘7059»9 O« IQG-FND
|- 280ad | © FE LD

129838

2 The heights of two similar pails are 12cm and 8cm. The larger pail can hold 2 litres.

What is the capacity of the smaller pail?

_ Ve (sF3
L&, g2
=% V&f;(é)ﬁ

(3 marks)

/e =g1
(SF>% \/3(,9% 5% 7

3.Find the equation of the perpendicular bisector of the line AB where A is (3, 9)and B is

(7, 5)giving your answer in the form ax + by +c=0.

YN / M- ﬁf*,/é th
i S e
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i / [(7) M= er/(

4

(3 marks)
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4. Mir. Ochuodho who deals in electronics sells a radio to a customer at Kshs. 1,440 after giving him a discount of 10%
but finds that he still makes a 20% profit. Find the profit Mr. Ochuodho would make if he does not give a

discount.
&P
mep —=7 190%

q0

5. Simplify the expression

9% —25a*
6t* +19at + 154>

BA_fo
(3t 50 (3t +§)

6. Solve for x i 1n —

C( }mc x/

KA XL/&
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j W (3mks
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(3marks)
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7. The length and width of a rectangle are stated as 18.5cm and 12.4cm respectively. Both measurements are given to

the nearest 0.1cm.

a) Determine the lower and upper limit of each measurement. (1 mark)

ll’eﬂtﬁ-ké
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b) Calculate the percentage error in the area of the rectangle. (3 marks) ,y' )
r /
Moot kreees [5-601I2US = Q30 94tz mm,gﬁﬁ(z)ﬂ?&fj
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Find the number of sides of the
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9.Find the integral values of x which satisfy the following inequalities;
| (3mks)

2x+3>5x-3>-8

QKAL 7523
3 £#3 =53¢
6 =2z
= =/

TPR

10.Two boys.and a girl shar

L >
5

Caedl

e 5755
Soc > —813

d some money. The young

A
_5 [
5]

AL Inbeger grpaky

(2mks)

T

er boy got %8 of it; the elder boy got %2 of the

remainder and the girl got the rest. Find the percentage share of the younger boy to the girl’s share.

g 2 g

g a1 6g
e .

2%

(3mks)
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% w0 18207 God
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11. Simplify the expression below leaving your answer in rationalized surd form of a + by/c

1 +tan120°

' —_ /"Clﬂ 60 1+ Cos 330°
| + Cos20 b=2x(-%)| 3% f51m)

(8 (0-g) 2 e e
el || /5 3z |

Ol
£ -3 =5 Z | D
e\ Co ,_\fr— | 2y 4 i =
12. Mutua bought 8 pairs of trousers and six shirts at Sh. 4160.if Had he bought twwe as many shirts and half

as many trousers, he would have saved Sh. 160. Find the cost of each item
(3 marks)

Qt +E£8 =Ulbo ngi -+Sézs =ngléfoo Jf;%’ 32@
+ RS = ool
= O &f + Ry =goob
Lt 4+ 128 = kD00 xR > ’%:_%D | (//Sé@
= |
L= Q33348 f

13.A solid block in the shape of a cylinder has a height of 14cm and weighs 22kg. If it is made of material of density

=3

c-3E) 4
6

@

5g/cm’, find the radius of the cylinder. Take n=2 (3mks)

7 | joo=""
= QQDO/@ES v; L{ODC»Q i o

= 0

s Ve vaxk f

nSt
U oo =92 /X rx M Y.
V= 200008 hod =
e | g
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14. The number 5.81 contains an integral part and a recurring decimal. Convert the number into an improper
fraction and hence a mixed fraction. (3 Marks)
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15.Using a pair of compasses and a ruler only construct a triangle ABC such that AB= 4cm,
BC = 6cm and ZABC = 135°. (3mks)

™= _ Iy hbky
4 ¥

A b
16. The curved surface area of a cylindrical container is 1980cm?2. If the radius of the container is 21cm,

calculate to one decimal place the capacity of the container in litres (3 mks)
(Taker = % e
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ANSWER ANY FIVE QUESTIONS

17(a) Train A leaves a station 45 minutes before train B. Both trains travel in the same
direction and their speeds are 36km/h and 48km/h respectively.
i) How long will it take train B to catch up with train A? (3 marks)
L= 36 kwmll, . ; /
el 1 i '
B~ L&Km/L gl Ok A SR 41/5 Q 2
QFkom
(e3¢0 T= R
=QFhe o Y s
9/ 1 R = 2K/ '[:,Q[h' l?amu(‘{

i) How far from the start were the two trains when they met. (2 marks)

|) = .S¢ T (R
D Se] . %x%”
Hew £ Jl /

( / = ( O& Kw]

b) A car accelerated from rest to a velocity of 10m/s in 10 seconds. It travelled at
this velocity for 20 seconds and then came to a stop in 5 seconds. Find;
i) The initial acceleration. (2 marks)
@ =Y a=lo
~t 10K

_\OMls - Ot )

ii) The distance travelled. (2 marks)

;’: J):/Z[(.\—rl‘,)l}% o
-Gt | Zcy

(1 mark)




